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Router(config)# router bgp 100
Router(config-router)# address-family ipv4 vrf vrfl
Router(config-router)# neighbor 192.168.255.255 allowas-in 6
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Router_A°| Z4I|184|0|M

<ffroot>
Router_A#

i nterface Loopbackl

ip address 10.1.1.1 255.255.255.255
!

interface Loopback?2

ip address 10.2.2.2 255.255.255.255
!

interface Loopback3

ip address 10.3.3.3 255.255.255.255
|

interface GigabitEthernet0/1

no switchport

ip address 192.168.12.2 255.255.255.0
|

router eigrp 100

network 10.1.1.1 0.0.0.0

network 10.2.2.2 0.0.0.0

network 10.3.3.3 0.0.0.0

network 192.168.12.0

auto-summary

2FE R19| Z4x|1dy|o|M

<#root>
R1#
i nterface Loopback22

ip address 10.22.22.22 255.255.255.255
!

interface FastEthernet0/0

ip address 192.168.12.1 255.255.255.0
dupTlex auto

speed auto

!
interface Seriall/0

ip address 172.16.12.1 255.255.255.0
!
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router eigrp 100
network 192.168.12.0

no auto-summary
!

router bgp 121

no synchronization

bgp router-id 10.22.22.22

bgp 1og-neighbor-changes

network 10.22.22.22 mask 255.255.255.255

!I--- This is the advertising loopback address.

redistribute eigrp 100

neighbor 172.16.12.2 remote-as 500
!I--- This shows the EBGP connection with ISP.

neighbor 172.16.12.2 ebgp-multihop 5

no auto-summary
!

!I--- This shows the redistributing internal routes in BGP.

CS odlol A= EIGRP7} Router_ A2+ R1 AFO|0flAM AlRHEIS Hod ELICH

<#root>
rl#
show i p eigrp nei ghbors

IP-EIGRP neighbors for process 100
H Address Interface Hold Uptime
(sec)

0 192.168.12.2 Fa0/0

Ct2 oflof M= 2R E{ R10| EIGRPE S35l Router AOAM B2

<{froot>
rl#

show ip route eigrp 100

D 10.0.0.1/8 [90/156160] via 192.168.12.2, 00:02:24, FastEthernet0/0
D 10.0.0.2/8 [90/156160] via 192.168.12.2, 00:02:24, FastEthernet0/0
D 10.0.0.3/8 [90/156160] via 192.168.12.2, 00:02:24, FastEthernet0/0
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<#root>
rl#
show i p bgp sumary

BGP router identifier 10.22.22.22, Tlocal AS number 121

BGP table version is 19, main routing table version 19

7 network entries using 924 bytes of memory

7 path entries using 364 bytes of memory

5/4 BGP path/bestpath attribute entries using 840 bytes of memory
1 BGP AS-PATH entries using 24 bytes of memory

0 BGP route-map cache entries using 0 bytes of memory

0 BGP filter-Tist cache entries using 0 bytes of memory

Bitfield cache entries: current 1 (at peak 2) using 32 bytes of memory
BGP using 2184 total bytes of memory

BGP activity 40/33 prefixes, 42/35 paths, scan interval 60 secs

Neighbor \Y AS MsgRcvd MsgSent  Tb1Ver InQ OutQ Up/Down State/PfxRcd
172.16.12.2 4 500 86 76 19 0 0 00:25:13 2

CtS oflofMH= R10| BGP &4 28 Y ESH= WS Eof ELICL

<#root>
rl#
show i p bgp

BGP table version is 19, Tocal router ID is 10.22.22.22

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path
*> 10.0.0.1 192.168.12.2 156160 32768 7
*> 10.0.0.2 192.168.12.2 156160 32768 7
*> 10.0.0.3 192.168.12.2 156160 32768 7
*> 10.10.12.0/24 172.16.12.2 0 0 500 i
*> 10.22.22.22/32 0.0.0.0 0 32768 i
r> 172.16.12.0/24 172.16.12.2 0 0 500 i
*> 192.168.12.0 0.0.0.0 0 32768 ?
<#root>
rl#

pi ng 10.10.12.2

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 10.10.12.2, timeout is 2 seconds:

I--- This is the connectivity with Router 2 across the Internet cloud.
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<{froot>

R2#

i nterface Loopback33

ip address 10.33.33.33 255.255.255.255
!

interface Seriall/0
ip address 10.10.12.1 255.255.255.0

router bgp 121

no synchronization

bgp router-id 10.33.33.33

bgp 1og-neighbor-changes

network 10.33.33.33 mask 255.255.255.255

I--- This is the advertising loopback address.
neighbor 10.10.12.2 remote-as 500

I--- This is the EBGP connection with ISP.

neighbor 10.10.12.2 ebgp-multihop 5
no auto-summary
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<#root>
r2#
show i p bgp

BGP table version is 20, local router ID is 10.33.33.33

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path
r> 10.10.12.0/24 10.10.12.2 0 0 500 i
*> 10.33.33.33/32 0.0.0.0 0 32768 i

*> 172.16.12.0/24 10.10.12.2 0 0 500 i1
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<#root>

r2(config-router)#

nei ghbor 10.10.12.2 allowas-in
r2#

clear ip bgp*

r2#

show i p bgp

BGP table version is 10, local router ID is 10.33.33.33

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path
*> 10.0.0.1 10.10.12.2 0 500 121 ?
*> 10.0.0.2 10.10.12.2 0 500 121 ?
*> 10.0.0.3 10.10.12.2 0 500 121 ?
r> 10.10.12.0/24 10.10.12.2 0 0 500 i
*> 10.22.22.22/32 10.10.12.2 0 500 121 i
* 10.33.33.33/32 10.10.12.2 0 500 121 i
> 0.0.0.0 0 32768 i
*> 172.16.12.0/24 10.10.12.2 0 0 500 i
*> 192.168.12.0 10.10.12.2 0 500 121 ?

O|A| R10{ M R22 ping2 AlZ & LICt.

<ttroot>
r2#
pi ng 10.22.22.22

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 10.22.22.22, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 56/57/60 ms
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